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AR YIET  [15cm<t=30cm m 27.50 28.00 g
TAT7 I &R %5 R
EHEERRYIET  |[t=15cm m 4.20 4.00 SEEE
TAT7 I &R %5 R
SEEERREREE  |t=20cm m? | 24.22 | 24.00 i
TAT7 I &R %5 R
AR [t=bcm m?2 6. 86 7.00 Al
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EZXH T & oAl moA H 1% s [ BTERE BEEE HMEERE i3] =
FREHEANIE  |[7AIVEEM (t=15cmil k) m®| 4.84 5.00 din|
HiE
FREHEANIE  |7AIVEM (t=15cmEi#) m® | 0.34 0. 30 vl
HE
FREHEANIE  [7AIVEM (t=15cmEi#) m® 1.30 1.30
A K
FIBHRALIE  [7A77 M EIBR A K = 1.00 1.00 2t
SMET
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EZXH i 2 Al Mmoo H 1% TEE EEEE e R i3]
H= SR ETAIV20-75 (BB O &) wE
(BEEE)  |t=15cm. 7" 34h3-b. 4yha-+ 29. 70 30. 00
=E BRIEETAIV20-75 (ShE M) dis)
(BEEE)  |t=5cm., 4yHha-+ 2648.22 | 2650. 00 b>3.0m KEH
=E BRIEETAIV20-75 (h'E I &) wE
(BEEE)  |t=5cm, 4yHha-+ 640.80 | 641.00 b>3. 0m —f&g
=E BAEZRIETAIV13-50
(&)  |[t=4cm. 7°3{h3-} 32. 40 32. 00 $ B
BAET
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A R X E % |12 15cm m | 1335.01 | 1340.00 S AR, U554V
EiR, #E

BEh = X E R 1E15em m | 201.60 | 200.00 BHIRX R, HE
+£J5, g8

AEh = X E R | 1E45cm m | 343.48 | 340.00 BUHE, BESE, PS5, EELE
B, B&

AEh s X E R |1E15cm m | 257.70 | 260.00 B3y, N by, EBREEELFERT
Wi, B&

A R X R |18 30cm m 11.00 11.00 N oybI4Y
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AR X E R |IE15emi & m 219. 86 220.00 S H
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[ 1E R T
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ERET
EME GEAR) |z @pet) mmavsu—roovsEnz| 1.00 1.00
INEUREER T
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BILTIR - AR)I#A I ¥ K HEETE
THRS T - @B - M 3 B v TR E | REEA B =
ZEATE H=3300~ 3600 £ | 3.00 3.00
5t 400 x 600 # | 200 2.00
BEERT
BEERT
AR BEER (AR km | 0.66 0.70
B E R BREER (HEE - AN) | m? | 1200.00 | 1200
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(A 12) BEYRETL (LA 13) BEYRELT
Tl
[7A770bERZERR . 15cm<t=30cm]
t=20cm RZEA No. 2 s/ BfEHER
HETTEREY L= 9.1 + 18.4 = 27.5m
[TA77MEBZERR .t =15cm]
t=4cm
BEREGRE Y L= 4.2 = 4.2m
2. SHEERREEEE [7A770MEEEERR. t=20cm]
RRER No. 2 a4 EETER
HMETTEREKY A= 21.87 - 6.86 + 9.21 = 24.22 m2
3. EMEERREREE [7A77VMEEEERR. t=bcm]
HEITTFERKEY A= 6. 86 = 6. 86 m2
4, SHEERRBERE [7A770hEESERR. t=4cm]
BERGERE Y A= 32. 40 = 32. 40 m2
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(A" 12) BEYRETL (A" 13) EfRIET
1. Bk [7AIVEE#]
15cmil £ (SHEEIRIE)
S RRBERE & Y V= 24.22 x 0.20 = 4. 84
150msk % (SHEEIRIE)
S RRBERE & Y V= 6.8 x 0.05 = 0. 34
150msk % (SHEEIRIE)
SHE MR E Y V= 32.40 x 0.04 = 1.30
it = 6. 48 m3
. BB [E/KALIE (FAI7MMIIEREK) ]
@ HERYIBT & U R E) (t=20cm ;% 7K AL £ m3,/100m)
£=20cm V2= 27.50 x 0.460 / 100.0 = 0.13
INET 0.13 m3
(2%ER)
£ W= 0.13 x 1.1 (t/m3) = 0.14 t
@ LHERRYIBT & U () (t=4cm: BIKALEE Em3/100m)
t=4¢m V2= 4.20 x 0.104 / 100.0 0. 004
INEE = 0.004 m3
(#H%FR)
= W= 0004 x 1.1 (t/m3) = 0.004t
(ZEa3H
E i (21) N= 0144 - 2 = 1.0&
T AI 7 I &KL S &5t = 0.134m3
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AR B t=4cm L= = 420 m
R t=4om A= = 32.40 | m?
HEERT Nyh 150 x 150 x 600 |L= = 8.0 m
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1. BREUE [FHPEEES, t=>5cm]
(RERERE) (—heER &)
TAIPVMEHET L Y A= 2648.22 + 640. 80 = 3289.02
23 (REHLD)
(SHEEIREE D) A= 21.87 = -21.87
&5 = 3267.15m2
2. B GREYIED  [FAIVEH]
(EHE)
V= 3267.15 X 0.05 = 163.36 m3
3. Ay [TrIvBEEH]
(EHE)
V= 3267.15 X 0.05 = 163.36 m3
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1. EE GEEH) [FBAIET7AIV20-75 (HEOH) | t=15cm, 7" 34h1-+]  AEIE —HBE - K=
(REAHD) (—EHA)
SETTIERKLY A= 21.87 + 7.83 = 29.70 m2
2. RE (FEEE) [FHiETA20-75 (REMA) . t=5cm, §v93-+]  KEIH b>3.0m =S
(REAHD) (REHHPQ) (XEABQ) (XEAEBD)
HETTEREY A= 1953.18 + 449.64 + 223.53 + 21.87 = 2648.22 m2
3. RE (FEEE) [FHiETAI20-75 (KREIHR) . t=5cm, 4yy3-+1 X#EIB b>3.0m —AgH
(—HEED)  (—HBH)
HETITTERELY A= 191.10 + 449.70 = 640.80 m2
. kB GHEE) [BAZRETAVI3-50. t=4cm, 7 {h1-}] (GHEE 5902#No. 61(L))
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A FRERE & Y L 9.2 = 9.20m
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TELY L= 8.0 = 8.00 m

#ERERIOVY L=8.0m
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ey

NO. 62+9.

———
(4.20)




H R 5 Bt

* =2 =f ==
(FESEEZESR 0y)0180/210 x 300 x 600) g no= 1/1
X fA Bl " E2 B E | WME
TNO.2 +2.85 | TNO.2 +12.07]L= 52.07 — 42.85 = 9.2219.22m
N F =]9.22
=) & =] 9.22m
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RERERZLB+HESEO OBR
1. FolXER [ER. O, 56, iElbom] SEIKR. BREDE. tvi-34v. HNIE
(Bf&) =iE il
HENERELY L= 702.31 + 632.70 = 1335.01m
(Ef) =iE il
BENERELY L= 144.55 + 57.05 = 201.60m
2. AR ER (v 7 5. A, 1845cm] FIER. EBSE. IS5, BEELR
B iE
BERNRELY L= 279.30 + 64.18 = 343 48m
3. At XER (iR, B, 1815cm] t09-34V. N by, EREFZIFFIERT
5 il
554y EREEFE A=k g EREETE
BENERELY L= 112.70 + 70.00 + 55.00 + 20.00 = 257.70m
4. BARXERR (R, 5. 1830om] b ybi{Y
B
AFRAE LY L= 11.00 = 11.00 m
b, ARt XER K - 588 - XF,. g5, i@IbemiiE] KH
B b
BERNFRELY L= 170.58 + 49.28 = 219.86m

6. AEAXERR [MRER, B, 1820om] EREFLZILFERT

RE il

HERRELY L=_20.00 + 6.00 = 26.00m
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(A" 12) XE#ET (A" 13) XE#FET
1. REEE  (FE)
=g (No. 614F38) W=45cm L= 2.30 = 2.30m
s FikER] (No 6144iF) W=15cmife L= 18.60 =  18.60m

o

t = 20.90 m
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1 AERER [EE, g8, BB, E@i5cm] SMAUKR, tv5-5{0. HRE

R #RERE & Y

L=

(ae)
102. 31

(B8)

- 144.55

2. HEaAXERR (07 5. 5, 845cm] (FiLER, HETSE, © 77

A FRERE & Y L=_279.30 279.30m
3. AEARE R (iR, B, 815cm] +v5-54Y

A FRERE & Y L=_112.70 112.70 m
4 BEAXER (MR, 56, 1830cm] b+ ybi{y

A FRERE & Y L=_11.00 11.00m
5. FRAXXER K - 585 - XF, A, EI15mE] K

R #RERE & Y L=_170.58 170.58 m
6. AEAXERR [MkER, B, 1@15em] EREFLZILFERT

R #RERE & Y L=__70.00 70.00 m
] EEAXER (MR, HE, 1820om] EREEZIEFERT

A RERE & Y L=__20.00 20.00 m
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=R, B, 1&E15cm : 1/2
X M &t 1 = #HE (B E

AN b

TNO.0 -13.5| TN0.2 +3.5 |[L= 60.10 = 60.10/60.10m Z
TNO.2 +10.0| TNO.4 +7.0 |[L= 41.60 = 41.60/41.60m Z
TNO.4 +11.2 ] TNO.5 +10.3 |L= 19.12 = 19.12]19.12m Z
TNO.5 +14.5] TN0.9 +3.7 |L= 69.27 = 69.27]169.27m 4
TNO.O0 -13.5] TNO.1 +17.6 |L= 33.41 = 33.41133.41m a1l
TNO.1  +4.8 | TN0.4 +4.4 |[L= 64.30 = 64.30|64.30m a1l
TNO.5 +11.9 ] TN0O.9 +3.7 |L= T71.81 = 71.81]71.81m a1l
B R 5 B T M AR

TNO.O -13.5| TN0.4 +5.6 |L= 100.70 = 100.70]100.70 m Zf
TNO.5 +13.5| TN0.9 +3.7 [L= 70.40 = 70.40170.40 m Zf

I g =1530. 71
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=R, B, 1&E15cm 92/2
X i H g = # = | =
TNO.O -13.5] TNO.4 +5.4 |L= 100.60 = 100.60[100. 60 m =Rl
TNO.5 +12.9]1 TNO.9 +3.7 |L= 71.00 = 71.00 [71.00 m =R
N s =1171. 60
= E =1702.31 m
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HIRX SR

2B %
TNO.2 +13.7 [ TNO.4 +3.7 [L= 30.00 + 30.00 60. 00 | 60. 00 m p
TNO.5 +16.1 | TNO.7 +5.7 [L= 30.00 30.00 | 30.00 m A
HKAE
TNO. 3 {58 L= 15.65 15.65 [15.65m 4

On#
TNO.4  +10.0 | fHifF L=_3.80 3.80 | 3.80m 4
TNO. 8 {58 L= 15.65 15.65 [15.65m 4
TNO. 0 1138 L= 15.65 15.65 [15.65m A

On#
TNO. 6 1138 L=_3.80 3.80 | 3.80m A

9850 .
|
J 5000 gw—l—
1100
N § =[144. 55
&5 E =[144.55 m
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©7°5 B, 1E45em 2B W E 1/1
R [ 5t E S w B | m =
[k
TNO.4 +3.9 {3 L= 8.60 8.60 8.60m 48
TNO.5 +15.9 | fH& L= 5.70 5.70 570 m =Rl
S
REER {3 L= 3.13 x 6 + 2.93 2171 121. 71 m A1
TNO.4 +18.0 | & L= 3.00 x 12 + 0.63 + 1.73
+ 0.95 39.31139.31m A4
TNO.4 +7.8 {3 L= 3.00 x 19 + 1.00 58.00 158.00 m b5 i
TNO.5 +11.6 | {hk L= 3.00 x 18 54.00 154.00 m &
£y
m2 (AlEt&Y)
TNO.5 +13.1| TNO.8 +15.4 |L= 131.40 x 0.70 m/m2 91.98191.98m
N =t =|279. 30
= £t =1279.30 m
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A=5. 00x5. 00=25. 00m2
£ 1 FAR~T ik g =1 =X # =
£ 73 Wed5em  |L= 0.821+3 721+6. 621+4. 621+1. 721 17.505 m
L= 17.505/25. 00 0.70 m/m2
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BE#R, B, M&E15cm 1/1
X &t g = B E | B =
HEEYI-5{Y
TNO.O -13.5] TNO.O +9.2 5.00 2+ 2.70 12.70 112.70 m Zf)
TNO.5 +14.0 | TNO.8 +7.5 5.00 6 30.00 [30.00 m Zf)
TNO.O -8.4 | TNO.4 +5.0 5.00 10 50. 00 [ 50.00 m PR
TNO.7 +11.2 | TNO.9 +3.7 5.00 4 20.00 [20.00 m =R
I g =1112.70
N § =[112.70 m
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&, B, 1E30cm 1/1
X fil it g = HoE | B E
M ybi4y
TNO.2 +2.3 | TNO.2 +11.3|L= 1.00 x 5 = 5.00 5.00 m 4
TNO.O +15.0] TNO.1 +6.0 |L= 1.00 x 6 = 6.00 6.00 m 1
I £ =111.00
N s =|11.00m
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XE1, B, tg15emiE 1/3
X fil it g = HoE | B E

BEEFE

(WG %)

TNO.O -16.5| f{hk L= 525 x 2 = 10.501]10.50 m 4
TNO.O +18.0 | k& L= 525 x 2 = 10.501]10.50 m 4
TNO.7 +2.7 {Hik L= 5.25 = 525 5.25m 4
TNO.8 +17.7 | {hik L= 5.25 = 525 5.25m Z 4l
TNO.O +19.7 | {hik L= 5.25 = b5.25 5.25m A1l
TNO.8 +19.6 | ik L= 5.25 = b5.25 5.25m A1l

BRTE

(B %)

TNO.0 -16.5| fhi&x L= 5.66 = 5.66 5.66m Z 4l
TNO.0 +18.0| fhi&k L= 5.66 = 5.66 5.66m Z 4l
TNO.7 +2.7 i L= b5.66 = 5. 66 5.66m 4
TNO.8 +17.7| fh& L= b5.66 = 5. 66 5.66m 4
TNO.O +19.7| fh& L= b5.66 = 5. 66 5.66m £

I £ =170.30
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KEI, 5. W=15cmia & 2/3
X B Hi = = # = | =

EEELIRFE

(B 4R)

TNO.7 +2.7 ik L= 7.91 = 7.9 7.91m Al

TNO.8 +17.7| fhi&k L= 7.91 = 7.9 7.91m Al

TNO.O +19.7| fh&k L= 7.91 = 7.91 7.91m =R

TNO.8 +19.6 | fhik L= 7.91 = 7.9 7.91m A1

B

(E#)

TNO.2 +15.3 | fhik L= 6.25 x 2 = 12.50(12.50m Z

TNO.3 +15.7| {hk L= 6.25 X 2 = 12.50]12.50m Al

TNO.6 +5.7 | {hk L= 6.25 = 6.25 | 6.25m =R

TNO.7 +5.7 | {hk L= 6.25 = 6.25 | 6.25m =R

¥

(E#)

TNO.2 +15.3 | {hk L= 6.66 = 6.66 | 6.66m Al

TNO.3 +15.7| {hk L= 6.66 = 6.66 | 6.66m Al

I g =|(82.46
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KH., B, W=15miE 3/3
X G H g = # = |5 =
EELT
(E18)
TNO.6 +5.7 ik L= 8.91 = 8.9 8.91m 1
TNO.7 +5.7 ik L= 8.91 = 8.9 8.91m 1
I £ =|17.82
= E 170.58 m
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HERERZIEFERT 1/1
X e H g = M E | B E
HEREBRZIEFERT
B. FE#R. 15cm
E15cm
TNO.O +16.4] No.2 +13.7|L 5.00 x X 2 40.00 | 40.00 m Al
E15cm
TNO.8 +15.6 | No.10 +0.6 |L 5.00 x X 2 30.00 | 30.00 m il
= =t =170.00 m
B, BEER. 20cm
#20cm
TNO.O +16.4] No.2 +13.7|L 1.00 x X 2 12.00 [12.00 m Z
#20cm
TNO.8 +17.7 | {hik L 1.00 x X 2 8.00 [ 8.00m 4
= =t =(20.00 m
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I 5 & Al

(A" 12) XE#ET (A" 13) XE#FET

TEREIO=E
. ARMARES [EH. a6, %6, 1515cn] MG, BEERSE. tUI-5(V. HAR
(B8) (#E])

RIFREE £ U L= 632.70 - 57.05
. ABMAREE [v'7 5. Bf. 1§45cn] HEELE, E1HE. IS5

RISREE £ U L= 6418 64.18 m
. ARARERE (5. 6. 1815em] tv4-340. by

RISREE & U L= 5500 55.00 m
. ABRARERS (K- 08 - XF. 8. 1515emE] K0

RISREE & U L= 49 .28 49.28 m
. ARARER (M5, 06, 1815m] EREFZILFERT

RISREE & U L= 20.00 20.00 m
. ARARER (RS, B6. 1520m] EREEZIHFERT

RISREE & Y L= 6.00 6.00 m
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I & E A
(A" 12) XE#HT (A" 13) XE#R T
1. RE#REE
- (=18 (No. 614F3E) W=45cm L= 2.30 = 2.30m
- XXF [ikEN]  (No. 614F3r) W=15cmifa e L= 18.60 = 18.60m

o

t = 20.90 m
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=R, B, 1&E15cm 1/1
X A & 1 #HE (B E
AN b
NO.59 +10.1 | NO.60 +14.1 26. 80 26.80| 26. 80 m Zf)
NO.60 +19.0 | NO.62 +5.7 31.50 31.50/31.50m Zf)
NO.62 +11.5| NO.69 +15.7 147.10 147.10{147.10 m Zf)
NO.59 +10.1 | NO.61 +16.5 49. 00 49.00] 49. 00 m =R
NO.62 +2.6 | NO.69 +17.0 157.10 157.10{157. 10 m =R
58-34Y
NO.59 +6.3 | NO.60 +16.3 30. 00 30.00 [30.00 m -
NO.63 +5.5 | NO.69 +16.6 131.00 131.00{131.00 m -
HIRX SR
NO.63 +5.5 | NO.66 +b.5 60. 20 60.20 [60.20 m
I g =1632. 70
N § =[632.70 m
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EHR, ¥|, 1E15cm 1/1
X FEl g B = @ E
HRX o HR
NO.68 +0.0 | NO. 69 L= 30.00 30.00 m
JHNEE
LI &
NO. 61 ik L= 3.80 3.80m Z
[P,
NO.69 +5.0 | fhik L= 3.80 3.80m Z
NO.61 +5.0 | fhik L= 15.65 15. 65 m =Rl
LI &
NO.69 +5.00 | {Hik L= 3.80 3.80m =REll
N £ 57.05
& £ 57.05m
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©7°5 &, 1E45em 2B W E 1/1
R [ 5t E S w B | m =
S
NO.59 +6.3 {3 L= 1.80 1.80 1.80m =Rl
NO. 61 {3 L= 1.50 1.50 1.50m 48
NO.62 +9.0 {3 L= 1.50 1.50 1.50m 48
NO. 62 {3 L= 1.50 1.50 1.50 m A1
i
NO.69 +10.0| ft& L= 5.80 5.80 5.80m
£y
m2 (BlEt& Y)
NO.63 +5.5 | NO.66 +5.5 |L= 74.40 x 0.70 m/m2 52.08 152.08 m
I £ =|64.18
a B =|64.18m




BE#R, H, M&E15cm B = 1/1
ES Ei & B =5 |[#H =
4347
NO.59  +0.0 5.00 10.00m | A7525 4%
NO.61 +0.0 | NO.63 +b.5 5.00 25.00 m
b oybi4y
NO.60 +9.6 [ NO.61 +3.6 1.00 6.00m Z
NO.62 +0.0 [ NO.62 +16.1 1.00 7.00m Zf
NO.61 +11.9 [ NO.62 +7.6 1.00 7.00m p=R |
N S 55.00
& 3 55.00 m




s
Gl
i

XEI, B, "E15emiaE 1/1
X &t B = B E | B =

BnFE

(BE#R)

NO. 65 {1k L= 5.66 = b5.66 | 5.66m

NO.66 +5.5 | ik L= 5.66 = b5.66 | 5.66m
ERFE

(B #R)

NO. 65 {1k L= 5.66 = b5.66 | 5.66m

NO.66 +5.5 | ikt L= 5.66 = b5.66 | 5.66m
air

(E#R)

NO. 68 {1k L= 6.66 = 6.66 | 6.66m

NO. 69 {1k L= 6.66 = 6.66 | 6.66m
i

(E#R)

NO. 68 i L= 6.66 = 6.66 | 6.66m

NO. 69 i L= 6.66 = 6.66 | 6.66m

I £ =149 28
a & =149.28 m




* = =M ==
EREERLFERT 2 8 W F e
X G 5 =1 = B E | B E
EREFZIEFTERT
B. FE#R. 15cm
B15cm
NO.66 +5.5 | No.68 +0.0 |L 5,00 x 4 = 20.00]20.00 m Al
& 5 =120.00m
B, BE#R. 20cm
#20cm
NO.66 +5.5 | No.68 +0.0 |L 1.00 X 6 = 6.00 | 6.00m Al
ﬁ E = 6.00 m




3 MERUEIRBER (B m)

X 2 O3 BIE HHE X % # Al IR HHE
[’“v 12.19 14. 60 N 6.00 7.20
i x 9.47 11.30 ) A 5. 97 6.30
3R T
& 8 3.18 3.80 = 7.50 9.00
X
e - 0.30 0.36 A 10. 50 12.60
it 5
2 2.30 2.80 & 9.17 11.00
0 3.04 3.60 % 7.77 9.30
20 18.49 22.10 f 6.25 7.50
- 30 19.34 23.20 ‘"[ 6.66 7.90
& 40 19.80 23.70 N ‘_' 8. 91 10.60
B3 50 18.57 22.20 9.65 11.50
=
60 21.08 25.20 E[ £
0 10.89 13.00 f 17.50 21.00
= 6.24 750 | | & '—[ 18. 44 2212
*
E3) 7.55 9.10 ,_{ 24. 74 2968
S 6.26 7.50 26. 84 32.20
( 1.75 2.10 f 5. 25 6.30
o = 3.73 050 | | | 2 - 5. 66 6.70
AN )
] % 8.29 10. 00 Ol I 7.91 9.40
" % .81 2.20 | 8. 65 10.30
& 7.16 8. 60 ? 14.70 17.60
¢ 0.86 1.00 Z <_: 15. 64 18.70
* )
& 7.09 8.50 x| 21. 94 26.30
] 7.63 9.20 24. 04 28.80
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ERERTREZBEHE-PATILY
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% B @ = »
T @ | - & oA
gy [EEBEEERT (naz  [HEMEST

1. EE (hROBFHERS A EIREECHE, MERSHH (200x50, Bff) ] HROBEFR

A FRERE & Y N= 3 = 3 &




& #A = 24
T | . - &
gy [EEBEEERT ag  |PLERBT
1. (RS AR I T
RRE (BER) &Y N= 45 45 48
(FREA I+ EHE % 2)
1#8=0. 405t N 45 x  0.405 18.2t
RB-NNSH M ISEEANLEE
29 #A 16 #8




% & B B ”
T @ | % T
gy [EEBEEERT nas  |[EPET
1. HEE GHNR)
= 148

No. 61 (L{EI%E) N= 1




3

H®

= = 4/4
I & . . & Al .
(I/I\e JLZ) ﬁﬁ%‘qﬁﬁﬁnzl (l/'\é Jll3) IJ\E:*ID&I
1. ZHiR
400x 600 #FHEZ - LATU XL 0.24m/#K 3
2. fZEHAE
H=3300 Bk (E®ST) ¢60.5 3 H
(E)
400
D — \
L5 B &
< mls ?IJJZ ‘O
® oW owm
X
= A2
6L 59% Ll_] I__ﬁ
]

400

3. k&R

400 x 600 ij

2 &K




* = =[F =
rh s 53 BB R A 2 B SO B 2 A B y
X M i 5 = % E | &
(RS BER)
TNO.2 +2.85 | TNO.2 +12.07[N= 9.22 + 4.0 _ B
— —| 3.0
2 : = 3.0 &
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T &

W
(LA 12) BREART

| BT

1/1
5l 12

1. BREER (FE)

E905#R L=220m
CE1F183. Om EE1EI. Om)

L

220 x

0.66 km
2. WmEAR (BE)

XEfREER (2) LY A= 1200

1200 m2
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% & 3 B A
T B [ I TI
ngy  |ERE e pgy (R
MEIERRLETS

| BEYESBEICLHER (1F—0 (AE) ) HBEDEIE R4 —)LEMEAR) 2 0m, 20kmR i

N= 2 = 2 &
I & — E B - =
(A 12) TgeE (A" 13) TREEHRBAE
FEIEEE LTS
2. TEETHR BAIERIEREER
= 10 {&







% =2 =
#Hn = 5 E £
R NS T (hR NS IOy Y) 10.0m& V)
1000
250 25 450 25 250
500 FESEEER IOy )
(C 180/210 x 300 x 600)
R ERECH
(AR5 X200x 502 1F %)
— | ]
,\.
2 s 8 gi) Kl E 7R
- S i 2y s, -_—
3 1
7l g 2 [ 21,0/ 9 Zx// 2
g £ 3
hRAHE EBEIOovY ‘ N\ avsy—t hRoHE HBIovy
(455 x 255 x 2000) (o ck=18N/m2) (455 x 255 x 2000)
455 90 455
1000
£ 5 IR iE g € H = | B

FEsEEER 187 0m 73 Bi=20m
JOwy4yC 180,/210 % 300 x 600 |L= (N=165=-100x10.0=16.5A&) (W{AI=334A) = 20.0 m
avol)—+F o ck=18N/mm V=" 0.09 x 0.506 x 10.0 = 0.45 m?
hf B - 18110m x 7 {81=20m
EEgEJovy 455 x 255 x 2000 |L= (N=10.0+2.0=5AK) (MAI=104AK) = 20.0 m
E)LRZIL 1:3 t=10mm |V= 0.21 X 0.01 X 2 X 10.0 = 0.04 m?
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